


For each condition, briefly explain why you might consider it out-of-control and what action you would consider (remeasuring, adjusting the mean, expanding/compressing the limits. etc., etc.).





Zones A, B, and C are + 3, 2, and 1 s, respectively.





Condition�
Why might you consider this


Out-of-Control?�
What action might you take?�
�
Points fall outside Zone A 


(+ 3s)�
Classic definition of out-of-control; the process is outside “normal variation.”�
Seek the cause of the variance (problem solve) and take appropriate action in the process itself. Possibly shut down the process (why produce junk?).�
�



Two out of three consecutive points are on the same side of the mean in Zone A or beyond.��
�
�
�



Four out of five consecutive points are on the same side of Zone B or beyond��
�
�
�



Nine consecutive points are on the same side of the mean.��
�
�
�



Six consecutive points are increasing or decreasing��
�
�
�



Fourteen consecutive points are alternating up and down.��
�
�
�



Fifteen consecutive points in Zone C are above or below the mean.��
�
�
�









